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> array2[1,1] > array2[1,1]
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{a,b,C}={51913} a,b,C
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>a<-5 a
>p<-9 b
>c<-3 c

>(-b+sqrt(b*b-4*a*c))/(2*a)
-0.4417424305
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3 (0.1,-1.2) (1.5,2.1) (2.8,7.2) 2

y(x)

y(X) =a+bx+cx?

(1)

x={0.1, 1.5, 2.8}

y(0.1)=a+0.1b+0.01c
y(1.5)=a+1.5b+2.25¢c

y(2.8)=a+2.8b+7.84c

at+bx+cx’=-1.348718+1.429182x+0.579976x°

y(X)=-1.348718+1.429182x+0.579976X°

a+0.1b+0.01c=-1.2

a+1.5b+2.25c=2.1
a+2.8b+7.84c=17.2
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a+1.5b+2.25¢c=2.1
a+2.8b+7.84c=7.2
a=-1.348718
b=1.429182
c =0.579976
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x={0.1, 1.5, 2.8}
y={-1.2,2.1,7.2}
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x°=(1, 1, 1}
x'={0.1, 1.5, 2.8}
x°={0.01, 2.25, 7.84}
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get_polynomial

'get_polynomial( x,y )

var m,n,v,ar,ans,ans_c,t

n=[|x[|

return "input data errorl" n=|y||
n-1

ar=R x*
k=0

m=(M ar)T

return "no answer" det(m)=0
n

V=MR {y}

ans=m™v

n make_series
ans_czE% <ans, >
=1

return [make_series("x", n-1 ,ans_c)|

get_polynomial

x={0.1, 1.5, 2.8}
y={-1.2,2.1,7.2}

get_polynomial( x,y )=-1.34872+1.42918x+0.579976x2

get_polynomial



